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Exercice 1
Compléter :
48 2 4 3 30 5
1. =/ =— 3. — = — 5 === 7., — ==
> 2 16 > 12 > 8 2 > 6
18 6 1 8 2 8
2. —=— 4. = = — 6. = 8. ~ = —
> 30 > 10 20 > 40 5 > 9
Exercice 2
Compléter :
b1 6 b3 30 _ 3 o5 428 b7 S
20 10 20 ... 21 "6 36
40 5 1 28 4 3
2. — = — 4, === 6. — = — 8. =2
> 80 > 36 4 > 14 > 18 9
Exercice 3
Compléter :
b1 2 _12 b3 3 b5 o 10 by 2
10 ... "6 18 27 9 10 60
27 6 3 36 10 2
2, =20 4. — == L= ===
> ST >4 7% >6. 5 =5 >8. — =]
Exercice 4
Compléter :
36 49 45 9 1
1. = =— 3. — = 5. — = — 7, — ==
> 1 40 > 35 5 > 10 > 10 90
bo T ba L e 8 _ 7 bg 3
"2 4 6 3 64 ... 24 4
Exercice 5
Compléter :
14 48 6 3 8
1. — == 3. — =~ 5, — = — 7. =2
> 20 1 > 24 3 > 10 > 1 2
14 7 9 1 8 56
2. —=- 4. === 6. == =— 8. — = —
> 4 > 27 3 > 30 5 > 6
Exercice 6
Compléter :
1 9 81 3 10
1. - = 3. - =— 5. - == 7. =
> 9 27 > 3 > 4 32 > 5 35
54 4 81 4
L= 4., — == 6. —=— 8. - =—
>2 4 24 > 14 7 > 5 45 > 30 5
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Corrigé de I'exercice 1

Compléter :

6(><8) _ g
2xs) 16
18 6(x3)
30 10(y3

»1.

»2.

Corrigé de I'exercice 2

Compléter :
12 6
1. = = X2
20 10¢xz)
4 5
b2, D 20
80  10(ysg)

Corrigé de I'exercice 3

Compléter :
2 12
p1, O _ 22
10(xs) 60
3 27
p2, 9 2
8(xg)y T2

Corrigé de I'exercice 4

Compléter :
9

b1, b 36
10(xqy 40
7 14

p2, X2 _ 2%
2(x2) 4

Corrigé de I'exercice 5

Compléter :
14 7

Pl — — x2
20 10(x2)
14 7

b2, — = 2
8 4y

Corrigé de I'exercice 6

Compléter :
1

b1, 09 _ 3
Ix3) 27
9 4

b, 00 M
dixe) 24

»3.

»4.

»3.

»4.

»3.

»4.

»3.

»4.

»3.

»4.

»3.

»4.

2xy) 4
5(x2) 10
Txy 14
IO(XQ) 20
@ B 3(><10)
20 2(x10)
9 _lxy
36 4(xo)
1(><3) _ i
6(x3) 18
6 _ 3
12 6(x9
49~ T(x7)
35 Bx)
2 lixo
6 3(x2
48 6(xs)
24 3(xs)
81  9Yx9)
27 3(xg)
dx9) _ 81
3(x9) 27
i o 2(><2)
14 Ty

»5.

»6.

»5.

»6.

»5.

»6.

»5.

»6.

»5.

»6.

»5.

»6.
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S(xe) 12
8(x1) 32
64 8(xg)
40 B(xs)
4(><7) _ %
3xny 21
28 4dixn)
30 10(x3)
27 9(x3)
Ixa) _ 36
6(xa) 24
g . 9(><5)
50  10(xs)
56 _ Tix8)
64 8(xs)
6 3x
10 5(xg
6 _lxe
30 B(xe)
3(><8) _ %
4(xs) 32
Ix9) _ 81
Bixg) 45

»7.

»8.

»7.

»8.

»7.

»8.

»7.

»8.

»7.

»8.

»7.

»8.

& B 5(><6)
36  6(xp)
2x4p _ 8
9xsy 36

8(><6) _ ﬁ
6(xs) 36
6 32
18 9x9)

Q B 8(><5)
10 25
8(xn) _ 56
6x7) 42

10(><7) 70
5(x7) 35
24 _ 4(x6)

30 B(xe)
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